=ABEBICE T S EME

e N T e T e e T
© 0 =1 O U1 &~ W o

S © 00N ok W

AABCIZDWT, BC=a, CA=b, AB=¢ DL %,
I8 1~30 I22W\WT, ThZhhfEzERD &,
7=7ZL,

AABCOD, AL, B, BOE
FhEhO0, 1, G Hi75,

Al £ BCOXR&EE L, Al &SMEMD
REE AN ETB,

A e BC, CA, AB L DER%
ZNENT,, Ty Tp L5,

AT,, BTy, CT.i314 ] Thbs,
(Gergonness)

EfR AT, L PHEAD T, BSOS %
K&d5,

AABC DS, SMEMOEE, AEEMOD
EREZINTNS, R, rk95,

¥ /-, & 31~34 OfWIZE L L,

. cosA

. AH
. AG

. OA

. AL

. AI

. OH

. 0G

. AC

. AT

. AL AT
. OI2

. AN

. BT,

. AT,

. AJ



20.
21.

22.

23.
24.

25.
26.

27.
28.

29.
30.
31.

32.
33.

34

AK

WBCLIZRR 2EEL, AR=1x25<, LABLIZEIRNP, MACLIZER Q%EL5LE, RP+PQ+QR &&/)
IZT5HP, Q%skd, TDEL XD RP+PQ+QR DfE% KD &,
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FiREE (VY SADEHE)
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m+n c+b b+c b+c (b+c)? (b+c)?

=

AL>S0 XV AL:Z—W

ALPHDO_FENIFTHD L%, BL=a,, LC=q, B &, AL=./bc—aa,
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x>0 &Y x=,/bc—aa,

AABL+AACL=AABC &V
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DEEHST, Wx2+m2—c?)+x(y?+m?2—52=0
(x+y)m24xy(x+y)=2b2+yc? - (x+y) (m2+xy)=xb24 yc? s
. Al
Al ¢ BCOREE LL¥5L, Al IL=BA:BL &V, A
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- . Zs 4S A A
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AABCHEBICR X 2252 %, AX+BX+CX 2H/MNITEHR X 2R, TDEID AX+BX+CX DfEZRD &,
AABCHIZ LAFB= ZBFC=ZCFA (=120°) &72% /R F (Fermatm) &2&d¢&,
X=FIZHEWT, AX+BX+CX IImhe25,

D, F, X #ABCD, ACFF, ACXX NE=ZAMIZLELHIcLdE,
AX+BX+CX=AX+X'D+XX'=AD (=AF+FF+FD) L7225Nn56TH5,

d2+b2—02
2ab

AD%*=a?+b2—2abcos(C+60°) =a2+b2—2ab(cosC cos60° — sin Csin 60°) .

a’+b*—c? 1 25 3\ _ a*+b*+c*+4/3S
2ab 2 ab 2 ) 2

a’+b%+c*+438S

2

OA=a, OB=%, OC=ce¥52%, |a+b+c—OH]

cosC = . sinC Z% THBING, ACAD I REREAERTS

= a2+ b2—2ab<

AD>0 &V, AD= «/ &
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b
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P

@]

B
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a+b+c=0W %25 Wsr2y, AW-BC=(a+b+c—a)-(c—b)=[c|*—|6|*=R?2— R?=0
LAWLBC [EERIZ, BWLCA L7250 T, WidELD, 342bb W=H

£-C, [a+5+¢c—OH|=|0H-0H|=0 &

a+b+c

a+b+c—3- -

11T, OH=30G &V, |a+b+c—OH|=|a+b+c—30G|=
||

wE PE3 LY, o= R=22

=0 B
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a-b
- > - 2 2__,2\2
&5 - b=|allb|cos LAOB = R%c0s2C = R¥2cos?C — 1) =20 \'[of 47H 0" ="\ 4
4S 2ab
_ cH(a*+b%—c?—2a%h?
2(4S)?
la+5+¢

la+d+c*=|al*+[0]°+|c|*+2(@-b+b-c+c-a)=3R2+2R%cos2A +cos 2B + cos2C)
ZZTC, co0s2A +cos2B +cos2C =2cos(A+ B)cos(A— B) +2cos?C—1

= —2cosCcos(A— B)+2cos?C —1=—2cosC{cos(A—B)—cosC}—1

= —2cosC{cos(A—B)+cos(A+ B)}—1=—2cosC-2cosAcosB —1=—1—-4cosAcosBcosC &V
|Z+_5+E|2 = R%3+2(—1—4cosAcosBcosC)}=R*1—8cosAcosBcosC)
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a=% DL X, tana

A B ™\
B (¢
S
_r s (s—=b)s—c)
BE tana=-—_ = = s(s—a) ®
A 1—cosA sin A 1—cosA -
Z 22 N = - = = = = “*
HFAORA tana tan2 1+cosA 1+cosA sin A ERCTERETI S,
cosa
l1+tania = 12 , cosa>0 &Y, cosa= 1 1 - [ss—a)
cos’a J1+tan2a 1448 —¢) be
s—a)
@ FADARLY,
14 ot ct=a? b2+ c?—a?
cosa — cos 1+cosA 2bc (b +e)iP—a® _ [s(s—a) &
- - 4bc - be
sina

SindztanaCOSa:/\/<S_b)<s_c) \/S(Sb_“) :\/(S—bb)(s—c)
¢

s(s—a) c
EADARALY,

|_bFc=a
1—cosA 2bc _Jat—=(b+cP _ [(s—=b)s—c)
sma_sm «/ = 5 _«/ 15 = be &

AABCOAMD, PN, T, LZARDELNEZNZNO, I, H, I, £$5, 6B, 0, H, G, I, »A—MELI
hBLx, AL,

£ZBOC=2A, ZBIC= 90°+% , LBHC=180°—A, 4BI,C= 90°—% THd,

ZBOC=/BIC &EK &, 2A:90°+é £V o A=60°

ZnDE %, LBOC= £ZBIC=ZBHC=120° &7&1),

54 B, O, H, CliZA—MHALELIZHZ,

F7z, LZBIL,C=60" £72Y), I 1ZBCIZEALTA LRMENZHZNE
I, §FICHRALIZH 5,

£-T, A=60°
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32. AABCOSML, PEZNTN O, 11§35, 310 AB, BC, CAWFERFI2LTLE, LAIO 2k L,
AB=¢, BC=a, CA=b &5 ¢, A
ReLY, 2a=b+c O
AT AEHDORREA L EL,

WAFABA'CIZ N I —DEEEEHTS L,
A'B:-b +AC.c =AA’-a

A'B=A'C&Y, AB-(b+c) =AA’-a
DO&RATBL, AB-2a =AA .a . .2AB=AA’

a:%,ﬁ:gt&‘BKc‘:, ZABI= a4 =ZAIB XY, BN ’ =7

a

A'B=AT .. AT=AI
LIZ AN DFREZRDMNS, OILAI &Y, ZAIO=90 &

33. AABCIZBEWT, RDBEDLADKEIERDE, 722U, m>n>0 L5,
1) a=mi—mn+n?, b=2mn—n?, c=m?2—n?

2 a=mi4+mn+n?, b=2mn+n?, c=m?—n?

#mE (1) RECHEERTLL A
cosA = b2+zcbzc—a2 _ (Zmn—nz);(—iz-y(nr;z:_—nnzjz;—z(_mjgmn+n2)2
_ Cmun—n? +2m2—mn)mn—2n%) _ n¥2m—n)+ mn2m—n)\m—2n)
B 2n(2m—n)m?—n?) B 2n(2m—n)(m2—n2) ]
_n@2m—n)n2m—n)ymm—2n)] _ n@m—n)(m*—n? _ 1 ST
2n(2m—n)m?—n?) 2n(2m—n)\m?—n?) 2
P<A<I80° £V, A=60° ) y
(m, n)=(2, 1) D&%, (a, b, c)=(3, 3, 3) LR
(m, n)=(3, 1) D&%, (a, b, c)=(7, 5 8) —=FHE d 120° 3
(m, n)=(4, 1) DEX, (a, b, ¢)=(13, 7, 15) B

2\2 2 ,2\2 2 2\2 2 2 2 — — 2
©  ER COSA:(Zmn+n) +(m*—n??—(m*+mn+n??® _ n¥2m+np+(2m>+mn)(—mn—2n?

22mn + n?)(m?2—n?) 2n2m+n)m?—n?
_ n2mAnfn2m+n)—mm+2n) _ —n@2m+tn m’—n?) 1
2n(2m +n\m*—n?) 2n(2m+ n)\m?—n? 2

0°<A<180° &Y, A=120°
(m, n)=(2, 1) DX, (a, b, ¢)=(7, 5 3) =tH=
(m, n)=(3, 1) DX, (a, b, ¢)=(13, 7, 8)
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34. AlIzNET 3mAFABCD (AB= e, BC=5, CD=¢, DA=d) OEES %=kd X,
#mE C=180°—A K1Y, sinC=sinA, cosC=—cosA THh5,

S=- adsin A+ besin € = 5 (ad-+ bjsin A

- 4S=2(ad+bc)sinA D
BD?=a%+d?—2adcosA .-
BD?=b%+¢%2—2bccosC=0b2+c?+2bccosA --B
®—@kY, 2ad+bc)cosA =(a’+d?)—(b%+c% @
ODmmz% 2FT DL,

(4S)2={2(ad+ bc)}?sin? A ={2(ad+ bc)A(1 —cos?A)
=(2(ad +bc))?—(2(ad+ bc)cos A )2 =(2(ad +bc) —{a’+d*— (b2 +c))? (c @ERALE, )
={2(ad +bc)+a’+d>—(b2+ c2)H2ad +bc)—(a?+d?) +(b%+ c?)}
={(a+d?—(b—c)P{(b+c)P—(a—d?) =(a+d+b—cYa+d—b+cYb+c+a—dYb+c—a+d)

GHEOECHD v 58, atdtb—c=atbtotd—2c =252 =%s—c), FEY

(4S72=2s—c)-2(s—b)-2s—d)-2s—a) =4 (s—a)(s—b)(s—c)s—d)
S>04&Y, S=J(s—a s=b s—c)s—d) B (FIvITXDEH)

ZZTC s=

(2019/8/26  HRsfedl)
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